R <B K> H #E e — BHES
. #d 1Q
]
o o8 | we || w wm
. R v
=
ar palc e v
AAN A R o il W
=
= - < S
(V]
N SN REa £
=
=
o
=
[a\}
o
o]
L L R e s T T S
w0
[aV]
o
<
o]
0
2 99,
s
[{e]

i -HRH




<B K>

BHEE

LR -

100

200

240%

300

 meRE



A1 2 4R <t A> i = Z0D1 i P AR
(1) (2)
(3)
(1) (2)
1]
B
2
4 #
s B
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
2
4
6
( A — — — — — F)

wLBHE




AN 2 41 <thi K> = ZD2 iR AR
2
— — — 4
4]
(1) (2)
(1) (2)
2
5
6]
2
4
I ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Y.
il
<7,

wLBHE




D241 <M K> B oo ZD1 i FH A
1 2
3 4
5 6 | a=
]| 7 8 s
9 |x= 10
11 em® | 12 | x=
13 14 | BX% 118l
@
2 | O®
1
®
A B 3 |a=
1
& A (AR A, B A)
(1)
(2) c
2
(3)

wLBHE



AN 2 41 <t K> B+ ZD2 g s FHAK
F (RIFH)
AA\D
B E C
4]
(1) em® | (2) em?
% | 2 m
E A ( )
i b
w/H | 2 I
6]
%A (n= )
® b= @ a=

wLBHE




2 4%

<t A>

Z0D1 firR s P

cm/s

FIEGEERP OB & Wh

LED #ERD i H IKF[#] IR

I
w

e

BRSO

—
0
—

=4

—

0 0.1 02 03 04 05
TR LDOHEEK ()

wLBHE



AN 2 41 <thi K> = ZD2 fire 5 P AR
(6]
iz
g/cm’
LIS
FEFAG R
C g
N
N ) HRMBIKH
@)
(9]
©)
®
®

wLBHE



<t A>

b

R AR

2]

wLBHE




HG D2 iR AR
A 2 4 <Wi K> CO e
T
0 €0 U SRS SRR USRS SRR MSNNR RO S
) L S S S S
4

wLBHE




B o e <B K> H #E WS — BHES
- . A |
= x o)
= = g FA B FE
. _ R4S
= w
H M = K4
m s N ~ -~ v
= = s G
s : 2
AN
K~ Y| N ENPN
= ©
= x @
o
= ©
[a\}
o
]
L T T T T T
A ZoedRige
w0
< ET 446 4d
[a\}
T RYAVMKE UK Z0EEIRG | R0 20k A°
o
()
<
=
0

i -HRH




T B

300 240 200 1005

ERE

<3t

2o O A

ESHINE



Sk 31 4R <HF A> 2 zol R PG

(1) (2)
1
(3) (4)
1]
(1) e | (2)
2
(3) (4)
1 2 e
3 4
X3
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
5
X 4
1 2
3 4
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
S S Ak L rE s i, b i i’ i A il A A -t BB B s s A L EE
1 2
3
P EEGE R
4] | 4
5 6
7 — — — — E

wLBHE



Sk 31 4R <HF A> 2 zo2 R PG

1 2
3 4 — — —
X1
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
5
X 2
(1) (2)
1
(3) (4)
(1) (2)
(3) (4) il
6] (5)
2
S
1 2
3
gl P
LEL~
4
Y ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
LEL7Z

wLBHE



Sk 31 4 <thi K> b= ZD1 iR AR
1 2
3 4
5 6 i
]| 7 | a= 8 cm?
9 | x= , y= 10
11 12 | x=
13 14
@®
(1)
®
l
2 ®
1
A @ | ®
B
®
3 |a=
1
%7 ( )

wLBHE




SRk 31 4 <thi K> G ZD2 iR AR
(1)
2
(2)
A (REHA)
6 cm
D
47m
B 5cm E*3cm c
1
4]
2 | (v em® | (2) cm
1 m
5]
2
& A ( )

wLBHE




SRk 31 4 <M K> B ZD3 fir 5 AR
(2) m
(m)
IR
1500
1000
(1)
500|—
' V
=) 10 15 20 250
(7TH5)
K| 2
6]
BZ(x= )
@ @
® 054

wLBHE



S 31 4F i W A> moF Z01 HR 25 TG

1 2
3 4
(1]
5 6
7 8 cm
1 2
3
1
2
3 | EREB RERA D
1 2 ELR
4] | 3 | X3 IX] 4
4
1 2
KOJF Iz T
3
4

wLBHE



Sk 314 <t K> MR ZD2 g s FHAK
1.0
cm3 % 0.8
ioﬂ): 0.6
B
(6] ) 4 §04
2
[g] 0.2
©)
0 2 4 6 8 10
3§ UEEEE O (cm®)
J| 2
YL BIHOY km
@) ®
®
9]

wLBHE



PR 31 4R <M AR> EO ZD1 2 AR
(1) (2)
1
(3)
qll 2 @ @ 2 | ©® ©)
(1) (2)
3
(3) (4)
(1) (2)
1
(3) (4)
(1) — — —
1
2
3 — —
S
(1)
4] | 1
(2)

wLBHE




SRR 314 <M A> g Gl D2 e FAR
@
(1)
®
T
T
1
2
3 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
4
1
o)
2
[6] @
3
4

wLBHE



BHX R i <8 x> H HE W Q — FHEE
. AV
" ~ | ' « | & a
. 1%
=
s o N I
D 0 2 RN D EEN
= - 0
AN
AN WA N= Z
S .
o
=
<
AN
<L ¥ R RWER Y
] | o
RN NIV R J e RERNLEZO
<
0
2 “““““““““““““““““““““““““““
o
[ | «
w0
AVEHT TSI Y 2 e°
({e)

i -HRH




T B

ERES

<3t

2o O A

ESHINE

300 240 200 100



Sk 30 4 <HF A> 2 zol R PG

(1) (2)
1
(3) (4)
1]
(1) (2)
2
(3) (4)
1 2
3 4
5
1 2
3 4 fe
5
1 2
0 A 2B
3
4] AL 7
4 5
6 7 — — —

C wlEn



Sk 30 4 <HF A> 2 zo2 R PG

1 2
3 4 B
e
(1) (2)
1
(3) (4) i
(1) 9]
(6] | |
(2
-2 S
(3) (4)
(5)
1 2
3
A
4
B oo

wLBHE



Sk 30 4 <thi K> G Z01 iR AR
1 2
3 4
5 |a= 6
]| 7 | x= 8 em®
9 | x= , = 10 | x=
11 g | 12 &
13 14
2
3 |a=
1
(RIERH)
1
2
B (x= )

wLBHE




S 30 4R <t K> ¥ ZD2 g s FHAK
(FIEFH)
A
4]
E C
(1) | (@) em?
1 | a=
(2)
&7 ( )
(1) (2)
1%
cm | 2 e
6]
Hi(x= , y= )

wLBHE



S 30 4 i W A> moF Z01 HR 25 TG

1 2

3 4
(1]

5 6 J

7 8

1 2

HAD EZ2Cid

3

1

2

3

4| O ®

1

2 | @ @
(4]

3

C wlEn



SR 30 4F- 1 <M A> R Z0D2 5 K
q 500
400 - X
WIE v @ s A
3 (mA) 200 ]
o]
% 1Tz 3545678910
B/E (V)
B C AR D
6] g
53 % | Ik
2
i
]
B
2
0
AT ( )
2
9] ® ®
i3

wLBHE



SR 30 4F- <M K> PO ZD1 i FH A
(1) (2)
1|3 (4)
(5)
1]
2 |1 @ @ 2 | @ @
(1) 53 o | (2) 153 a5
3
(3) (4)
(1) (2)
1103 (4)
(5) (6)
1
2 | O @
3
S

wLBHE




Sk 30 4 <thi K> CO ZD2 iR AR
(1)
1
(2)
(1)
2
(2)
4]
3
1
2
5]
3
4
1
@®
2
®
6]
3 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
4

wLBHE



BFR QY <B K> H #E WS — BHES
- S .
= o)
o® x| e x | = a
50
=
““““““ e | | = &
~ e D =50 A N
- »
A= - 510 i\ -
im - RN AN
=
n
]
)
[av]
o]

i -HRH




T B

BERSEHR

<3t

2o O A

ESHINE




Sk 20 4R <HF A> 2 zol R PG

(1) (2)
1

(3) (4)

[1]

(1) ik | (2) VA
2

(3) (4)
1
2 | (1) (2)
3
4
1 2
3 4
5
1 2
3 4
5

(4] PREY

6

el
7

C wlEn



Sk 20 4R <HF A> 2 zo2 R PG

1 | 2
3
4 — — — 5
(1) (2) VAT A
1|3 (4)
(5)
(1) (2)
6]
(3) (4)
2
(5)
1 2
3
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
4 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

wLBHE



SRR 29 4F <M A> ¥ ZD1 fir 2 MG
1 2
3 4
5 | x= 6 | a=
| 7 |y= 8 | x=
9 10 Jig
11 | n= 12
13 14 em’
(1)
D 2
C .
(2) B&Z A
1
3 |a=
A B
(REM)
1
2
KZ(HTPEN2EET m, NZEPSERET m)

wLBHE




SRR 29 4F <M A> ¥ ZD2 fir 2 MG
(RiEAA)
A
BMC
1 D
4]
2 (1) cm | (2) S:T=
(1) L| (2 otk
1
[5] (3)
%7 ( )
2 7 T
1 (1) il | (2 em’
6] | 2
i (x= )
3 ]

wLBHE




S 20 4 i W A> moF Z01 HR 25 TG

1 2
3 4
(1]
5 6
7 8 Q
1 2
3 | Jeatko A | ARk
1
2
3 g
1
4| 2 | Hofi# H s K
3
1 2 [l
3 m
1 2
(6]
3 4

C wlEn



R AR

D2

Ft

<t A>

T 29 45

LT

-
—

ZEEED

%

cm/s

wLBHE



K 29 4F-H <M K> gL G5 Z01 e FAR
(1) (2)
1|3 (4)
(5)
12 |0 ®© ® 2 | © ®
(1) H H WEH | (2
3 |3 (4)
(5) I 55| (6)
(1) (2
1] (3 (4)
(5) (6)
(1) - - -
2 | (@ - - -
(3) - - - -
1
@ ©)
2
® @
3

C wlEn




SRR 29 4F <M A> O ZD2 fir 2 MG
(1)
1
(2)
(1)
2
(2)
4]
3
1 2
T-Fk (Chiaki) A
3 || b
4
1
2
6]
3
4

wLBHE




BFR Qi <8 x> H e W Q — FHEE
. KA
R & | | =
=
o @ m ow
N A ~ A 1 AN 5
[~ - = I
AN
R 210 A KN
=
LR
o
©
]| o
o
™ RBRR ¥Qo
<
[
({e)
o
<]
<
0

i -HRH




T B

300 240 200 100

‘RS &R

i

ESHINE



Sk 28 SR <HF A> 2 zol R PG

(1) (2)
1
(3) (4)
1]
(1) Jil | (2) km
2
(3) +E | @)
1 2
(1) (2)
3 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
3)
1 I Wik | I
2 3
4
1
2 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
4]
3 4
5 6
7 B S

wLBHE



Sk 28 SR <HF A> 2 zo2 R PG

1 2
I T P i -EL
4 - - - 5 HE
(1) | | (2)
1] 3 % @)
(5
(1) (2)
(3)
6]
2
e . G
(5
1 — — — 2
T T
4

wLBHE



R 28 4F-1 <Wi K> ¥ 701 5 R
1 2
3 4
5 6 o
Al 7 |y= 8
9 10 | x=
11 em’ | 12 =
13 14| S:T=
A 2
3 |a=
1
- C
1
HKi(AF—NElkgH 70 M, 7L31kedH 720 )
2
B ( cm)

C wlEn



A 28 1 Bow 202 W A
B
1
4]
2 | (1 | (@) cm
1 km
(1)
2
(2)
KA (t= )
3 7 %

C wlEn




S 28 4P I <t A> W o zZ03 ST
1 cm 2 cm
REWT)
6] | 3
4 cm cm cm

C wlEn




R 28 4F-1 <Wi K> MR ZD1 i FHAK
2
4
(1]
6
8 Pa
2
J| 2
FMA7=h N | O &5k m
Hifg
M
(4]
@ @
®
2
g/em’ | 4

wLBHE



SR 28 4F-JE <t K> MR ZD2 g s FHAK
(6]
O @ k=
R C TIHAEL 25K
4.0
&
il
D 3.0
T
3
t
7 2.0
e
&
D
& 1.0
T#
(em?®)
0 1.0 2.0 3.0 4.0
EM C THRA L =KD (cm?®)
9]

wLBHE



K 28 4 <M AR> EO ZD1 2 AR
(1) (2)
1] (3 (4)
(5)
1] 2 |@w| O ® 2 | © )
(1) (2)
3 | 3| 7 | (4)
(5) (6)
(1) (2
1 1 3) (4)
(5) (6)
©
1
@
2
3| O ©)

wLBHE




SRk 28 4F <t K> O ZD2 fir 2 MG
(1)
1
(2)
(1)
2
(2)
[B] |
3 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
1
®
2
©)
3 | You ( ) him a ( ) name
4
HET( )T B 7201,
1
BRLT%E( )o
6] | 2
3
4 | A B

wLBHE



